Instrukcja montazu gmoli dla / Crash bars installation instruction for

BMW K 1600 GT / GTL

/W sktad zestawu wchodzi: \

1. Orurowanie prawe.

2. Orurowanie lewe.

3. 4 sruby imbusowe M8x25 mm z podktadkami.

4. Obejma ptaska lewa z 2 Srubami M8x50 mm i podkfadkami.
5. Obejma ptaska prawa z 2 Srubami M8x50 mm i podktadkami.

&)

The set includes:

1. The right piping.

2. The left piping.

3. 4 hexagon socket bolts M8x25 mm with washers.

4. Left flat clamps with 2 bolts M8x50 mm with washers.

\4. Right flat clamps with 2 bolts M8x50 mm with washers. /

M=

www.heed.com.pl

/ I

Orurowanie powinno by¢ zakfadane tylko przez osobe wykwalifikowang. Nalezy zwrdci¢ szczegdlng uwage na
wigzki elektryczne, przewody hamulcowe oraz inne ruchome czesci tak, aby nie byty przycisniete lub nie tarty
podczas eksploatacji o gmole z powodu Zle przeprowadzonego montazu orurowania.

Cato$¢ orurowania zatozyé swobodnie dopiero na korcu skreci¢ docelowo.

1. Zdja¢ kufry.

2. Wykreci¢ 2 sruby z ramy motocykla trzymajace wspornik wydechu z lewej strony (Rys. 1. 3).

3. Poluzowa¢ srube tgczacg wspornik z wydechem i odchyli¢ wspornik ku tytowi analogicznie jak na Rys. 2.

4. Umiesci¢ uchwyt lewego gmola (Rys. 3 pkt. 2) w miejscu odchylonego wspornika i przesungé¢ wspornik na
poprzednig pozycje pozostawiajgc uchwyt gmola pomiedzy nim a rama.

5. Przykreci¢ lewe orurowanie (Rys. 3 pkt. 2):

- w miejscu usunietych w kroku 2 srub uzy¢ srub M8x25 mm (Rys. 3 i 4 pkt. 3),

- z przodu przymocowac gmol obejma ptaskg lewa do ramy motocykla uzywajac 2 srub M8x50 mm (Rys. 3i 4
pkt. 4).

6. Dokreci¢ wszystkie Sruby trzymajgce lewy gmol.

7. Analogicznie powtdrzyc¢ kroki 2 — 6 instalujgc prawe orurowanie.

&)

Piping should be installed only by a qualified person.

Pay particular attention to the electric beams, brake hoses and other moving parts, so that they are
not pinched or they doesn't chafe during operation due to wrong installation of the piping.

During installation it is recommended to set up piping freely.

1. Remove the cases.

2. From the motorcycle frame unscrew 2 bolts that hold the exhaust bracket on the left side (Fig. 1
pt. 3).

3. Loose the bolt that connects the bracket with the exhaust and bend backwards analogously to
Fig. 2.

4. Put the bracket of the left piping (Fig. 3 pt. 2) on place of bended bracket and move the bracket to
the previous position leaving the bracket between the piping and the frame.

5. Tighten the left piping. (Fig. 3 pt. 2):

- in place of removed in step 2 bolts use M8x25mm bolts (Fig. 3 and 4 pt.3),

- in the front mount the piping by the left flat clamp to the motorcycle frame using 2 bolts M8x50
mm (Fig. 3 and 4 pt. 4).

6. Tighten all bolts that hold the left piping.

7. Repeat steps 2-6 analogously to install the right piping.

- J




Instrukcja montazu gmoli dla / Crash bars installation instruction for . _

BMW K 1600 GT / GTL NneEEL

www.heed.com.pl

— 3 4 [ Rys. [ Fig. 1 ] A

A
[

o

Vf_ T f"_‘l{.‘r




